X0
D
o

1)

3)
4)
5)
6)
7)

1)
2)

3)
4)
5)
6)

7)

1)
2)

3)
4)
5)
6)

7)

Blue

345+ 398 = 743

An orchard contains 245 apple trees and 196 pear trees. How many trees are
in the orchard? 441

3241 + 1257 = 4498

4091 + 3405 = 7496

5891 + 3127 =9018

6327 +4751=11078

One farmer has 3536 lambs and another farmer has 2233. How many lambs
are there altogether now? 5769

3345+ 398 = 3743

An orchard contains 1245 apple trees, 567 pear trees. How many trees are in
the orchard? 1812

3741 + 1257 = 4998

4991 + 3405 = 8396

5899 + 3877 =9776

One farmer has 6536 lambs and another farmer has 5833. How many lambs
are there altogether now? 12369

A man blew up 4237 balloons. His friend Jay blew up 3359 balloons. How
many balloons did they blow up? 7596

3347 + 3298 = 6645

An orchard contains 6245 apple trees, 5667 pear trees. How many trees are in
the orchard? 11912

3741 + 5757 = 9498

3937 + 3487 = 7424

5899 + 3877 + 456 = 10232

Year 5s blew up 7786 balloons. Year 4s blew up 6574 balloons. How many
balloons did they blow up for the party? 14360

A grocer sold 4127 bags of sweets on Monday, 8135 bags on Tuesday and
218 bags on Wednesday. How many did they sell in those three days? 12480

A chocolate factory usually produces 1568 caramel bars on a Saturday but on a
Sunday production decreases and they make 325 fewer bars. How many bars are
produced at the weekend in total? This calculation requires 2 steps to solve: 2811



